55710107 .DGN

1458 " HARK L DESCRETION LN e | D
THIS FACE OF ALL PC. FIXED SUPPORT (AWAY FROM TERM.)
4'-9 %) 76 Lol WILL BE IN SAME VI“ | - e ' TR
21 () DIA. FORCE PLANE WITHIN 3 (p) 3081 [V i 72 PL SK X 13 (172) W/ 21 (13/16) wer | C
HOLE (TYP) 4 TRANSFER TYP DIA HOLES
. LUG ASSY 1 4 74 WASHER 16 (5/8) DIA Fa36_ | Ac
F=r et SF===r==x === == 2 75 BOLT (6 (5/8) DIA HVY HEX W/ 2 NUTS | 241 : i
_-:': —}E-EE—:—}I;}: 5:::—2525_]{# 2 -s%—_—.—:-:—:-:—:-'l:l.—: == Ealj 9 1/2)
. =T "",1":1,1'[?__?_""_' = l 76 PL 102 X 13 (4 X 12 X 2'-5 9/16) 751 s | C
5 = 1 T | B = = l 7 PL SK X 5 (3/16) wer | C
-d‘ i LI—'_':r_'jJ 6 7-8 MICARTA BLOCK 44 X 44 X 25 (1 3/4 X GRADE 611] ¢
| 13/4 X 1) W/ 22 (1/8) DIA HOLE
- -H-H - - 2 79 INSULATING SLEEVE 16 (5/8) I X 78 () | ML | ¢
= | = l 1/32 THK (FROM F.H. MALONEY €0.)
5| = i DETAIL - W
n | e % - A325 TYPE 3 (NOT GALV.)
. | 5% = SAZ4D TP304L
| !
2|7 ; W x|
o ' | | 7 3 CLIP 13 (')
AT 45° (TYP)
| | 610
i | @'-0) e 152 o
| i 6) |
- __i i ; | _ _@_ i T
(o} oi i o) o} | =2
| . 3 _
A A i i P ~— ——|l4 iL i §
| 406 (TYP) 848 (TYP) —_— 5 N /308L 5 | T S | =
b (-4 1 2-9% | 5 V\TYP ('€ ! | ‘
3 } '@(TYP) 38 (TYP) o [
SECTION A-A K ! } a'% 4 | |
| (- e e -
(FROM DWG #5) I |
VACUUM STIFFENER - | - L ﬁ | ?
WELD MUST BE ON JSIT (BEAM TUBE NOT SHOWN FOR CLARITY) ?o S ;9 B|e | = <] R )
THIS SIDE o T = 51; HOLES (SEE
— - 4 ® @  BLLSFR
EL CLIP 13 (Vp) l APPROVED
= F AT 45° (TYP) \@ . ! P Z
=l ']'; 3081\ 3 N 54150 (6-» 5 i Ty (8 ! Lhts E-25-5%
TYP BEAM TUBE —
= 3V 54-150 [ GD— e b (6-») CBI DATE
T T 1 NOTES
' SECTION 7-7 NIE
T ? Z Shmeih ek CALTECH DATE
f i t‘al: | WORK THIS DRANING WITFTDWG -6 ANT™37
T/ LS R ©| & 2. DETAILED AND BILLED FOR ONE (I) FIXED SUPPORT.
= Nl TOTAL OF (16) FIXED SUPPORTS (NEAR TERMINATION)
T RAD = 619 AND (376) FIXED SUPPORTS (AWAY FROM TERMINATION)
308L £ . REQUIRED .
it T L @
A 5 il L160 BEAM TUBE
LENGTH OF WELD DETAIL @ae) , LD (32 2] HANFORD, WA AND LIVINGSTON, LA
"W AT BOTH ENDS OF (D) - L e ° BEAM TUBE FIXED SUPPORT
394 (SLEEVE) = (5 | | PLAN VIEW & DETAILS (AWAY FROM_TERM.)
oD 53 P e CONTRACT NO
(3 |/2) mhqg'—aﬁzg; st WAW cweo DET oate 3-7-94 o %535-“
SECTION B-8 _SECTION X-X VNGPNGPA —— e D
(FROM DWG *6) P voicaTeS cumice From PREVIOUS K55iE =§g‘_§§;§§¥ DOSTOR-01- B




55710207 .DCN

1458

24 (%) DIA.

HOLE (TYP) O f
! \

4'-9%)

HORIZONTAL
FORCE
TRANSFER
LUG ASSY

_— — e — |

1187
(3-10%)

1137
(3'-8 %)

H )
I I
I

=
|[l |

[ERAN

VACUUM STIFFENER
WELD MUST BE ON
THIS SIDE

Iz Ix
-

¢ 1

MST

3

308L\ 3
TYP.

3

308L
TYP

406 (TYP)

\
- 6l0

848 (TYP)

(1'-4)

SECTION A-A

(FROM DWG #6)
(BEAM TUBE NOT SHOWN FOR CLARITY)

MST

34-150
54-150

4)

VAYAY]

2'-9 %)

CLIP 13 (')
AT 450 (TYP)

LENGTH OF WELD DETAIL

“W" AT BOTH ENDS OF (3)

BEAM TUBE

(1'-8 %)

SECTION B-B

(FROM DWG #o)

(SLEEVE)

THIS FACE OF ALL PC.
8-13) WILL BE IN SAME
PLANE WITHIN 3 (Y

308L
TP

@'-0)

(23

B S N /308L
| 5 VNTYP

[

(TYP)

DETAIL - W

152
(6)

MARK

DESCRIPTION

HENGTH sEC | D

FIXED SUPPORT (NEAR TERMINATION)

PL SK X 13 (1/2)

*3E C

PL 102 X 13 (4 X 1/2 X 2°-5 9/16)

751 *he C

MICARTA BLOCK 44 X 44 X 25 (1 3/4 X

GRADE GIl) C

1 3/4 X 1) W/ 22 (7/8) DIA HOLE

PL SK X 19 (3/4) W/ 24 (15/16)

#hE ¢

DIA HOLES

WASHER 19 (3/4) DIA

F436 | Ac

BOLT 19 (3/4) DIA HVY HEX W/ 2 NUTS

254 (1D) * Ac

INSULATING SLEEVE 19 (3/4) ID X

178 (7) MILAR | C

1/32 THK (FROM F.H. MALONEY C0.)

PL SK X 1D (3/8)

s48 C

* = A325 TYPE 3 (NOT GALV.)

%% = SA240 TP3D4L

2%x = SA240 TP304L

it
1
1

610
2'-0)

SECTION X-X

} INDICATES CHANGE FROM PREVIOUS ISSUE

A

HF-T--—---

(TYP) (8 /
(61D

SECTION 7-7

BEAM TUBE

g

(TYP) a4 ]
Y
g ; A
= 10

38 (TYP)

=~
=F=:
24|
@'%)

~Nhotes et
BILLS FOR
SI7E)

CALTECH

&

SUPPLER "3 / PURCHASER 'S MD

LIGO BEAM TUBE
HANFORD s WA AND LIVINGSTONs LA

REMARKS

BEAM TUBE FIXED SUPPORT
PLAN VIEW & DETAILS (NEAR TERMINATION)

REVISED BILLING AND ADDED

CUSTOMER S NO

UTH_ADOED ENTIRE GHT .

CsT

6

CONTRACT NO

s WAW cwo DET oate 3-7-94 953571

7L 7 |DOUBLE NUTS TO PC. 12,

DTR

M.L . TELLALIAN

owe | REV

REVISIONS

ENGINEERING ASSIGNED

SHT 7 0

7

DATE | 5-18-96 |

CHKD

DATE
BY

CHKD

BY

DATE Bb-ZF-98

CHKD




